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Quaestion 1

(i}

{ii}

E 9 > 12101001, - 011101 001; > 351, Covert tag hinary — 1 mark
Correct answer = 1 mark
Taotal = 2 marks

2B L0 uiilneme - c@eE 1
ATl BEnd - cnen 1

Smmii - a2

E 9y = 233 2 351, Covert to decimal = 1 mark
Correct answar — 1 mark
Total — 2 marks

tada mmded wn SEE - a1
REcE BEwd - (e i
comi - xupeE 2

351, without steps — I

351; Bedg cfim -

mark anly

3

ey 1o ol

Not to consider Base of the number for the answer {f.e 351 acceptable)
Gl T masn e el (23 351 BE o evl )

R = [P OR Q} AND [P NAND () Correct answer — 2 marks or ng marks
HDIE BFnd - pomen 2 samewes w0
R =[P OR Q) AND (NOT {F AND Q}) Correct answer — 2 marks or ng marks
st BEmd - cmas 2 sy Sumpeg O
R=+ M. F.Qh Carrect answer — 2 marks or no marks
Sipdf B8md - Gy 2 myreonw e 0
R={P+ Q)P Correct answar — 2 marks or na marks
HL B TERS - cmean 2 wywewnl Gomen 0
R=(P+N.(FY Partially Correct answer - 1 marks
wumia el HEE BEgs - cmey 1
Re={P+ Q). Partially Correct answer —1 marks

cemlad nds SE0E Blnd - el

Better or improve performance/
fewer maintenance issues’
higher rekiability/
better secarityf
any where any time access

1 mark for one of the above

Mo mark for “instant software updates”
and waTme Dib sweley BeBSE end molie oilme 68 fu g HO8/
F08 siiglf
A DwbasSas 8-
Eén @ gdnlead)
Eom® sddomam B0 A€ oD oo



8 (ezm Bwoaw wesadna®eing Swun pod@med

“wba o Sagmem mEwLt { instant software
updates) e e wme e,
{b} Constant internet connection required/
good internet connection required/
“depend on 3™ party/
security issues/

privacy issues,
1 mark far ane of the above

_dicwing cofmbisi e o®efie glan E81
L pae gutediche e@d@ie c;f.'.‘-'@ﬁ B/
merEay e Do o BE0 BriS
sl By (security issues)f
sualofned Emia [privacy issues)

g e Bfng 1w e o |

{iv} Ihput - one of [IN number/ amount to withd raw/card details)
| Processing — {update accpunt halance/compare/check amount and Lalancefvalidate PIN)
Qutput — [account balance/cash/maney/ receipt/card) '

One correct — 0.5 marks

Two correct -1 mark
Al correct — 2 marks

gaeses (Input) - (gwef eamalvamg anfE0 agde e geolmie e emadnd)

S e (Processing) - (Eo5% edee b S SESEe 2 vefwa aJufur ST&id0

(v}  A=-USH,
8 - Audio port
C-Rl4S
D -- HD WAL

(1.5 marks each for a correct answer
Total - 2 marks

o RER o8 BEmon pewa - epay 0.0
B mem - 2
Mote: in this quastion and in the subsequent similar questions, correct method to present the

answer is clearly mentioned. Therefore, answers presented with the reproduced table with the
corract items linked using arrows are NOT accepted.




& mezmo Mo wealimettgd

fwib

{vii)

{wiil)

{ix)

wluw: e@® gdrend ou 80 und 4 o908 senand HEoLOc BEnd chels gy HHdE
Houose eyorED gfle g, 258, Bob B8nc emmd Homs ma Aot gro Sog Bdet

aaand g8 BEmo; eudwm emomied.

1-Bf/C/BandC

2—H
3-F
4~i
0.5 marks each for a correct answer
Total - 2 marks
{No marks if additional aptions selected}
euf H808 BEnoel agrr - cxmm 05
el uapem - 2
Hinsf BEQID e@ud el E&nd aifmd (e st o,
P - WWWW
o~FTp
R —DNS
S ~HTTP
0.5 marks each for a correct answer
Total - 2 marks
et F18y 58 BEwpder cigmg - =y 0.5
He cmen - 2
W -4
-1
-2
Z~3
0.5 marks each a correct answer
Total - 2 marks
S OE BEndm wowe - Ees 0.5
e pmeE- 2
]

Hardware — one of (PC/Tablet computer/Smart phone/Raspherry Pi/Smart watch/ Smart band!

Printer/Mouse/Keyhoard or any similar device}
Application software — one of (M5 Office, Adobe Acrabat, Oper Office, or any application
scftware
[Operating systems, Utility Software are Incorrect)
Liveware - one of {Liser, People, student, teacher, or any similar answer acceptahle )
0.5 rarks each a correct answer
Total — 1.5 marks

safine (Hardware) - (wSawmmaio® e edosmmal Smart phone/Raspberry PifSmart watch/

Simart band/g /g8 mefand; pbad and S0 oyl o

@ae® Fagmen - MS Office, Adobe Acrobat, Open Ofﬁce.@m:f Siqm fm® @wg® Sagmmarict
{z@epad oddfw/ceeedBee Bagmer v 582 S8n% k)

donm (Liveware) - =Bfcwidnanos@escei ot ond @i 99 S8en ol BEnds



§ 3ot Byon @eratin sty e 2 Eewed

{x}

st 8 JE BEro new - me; 0.5
S e - 15

{B) X — One of [Operating system/systems software/utility software/Language
translators/assemblers/Compilers/interpreters)

{Examples of Operating system, systems siw, utifity siw incorrect)
0.5 marks
X— oBomgd eflfe'sd U8 Susmnalesond Bm Bgmeac (utility software) favms o8l
{Langirage translators}u'a-aea@acd-.e.{AssembIers}}cz@c:qm,‘Compilers),-’f.-p-.’: Sxsrnm

{interpreters)

Bzn® b S8pdst mews - Ema .5

60
12
33
50
9.5 marks each for correct value AND correct position (order}

el Béndl powd (gmBEetiad) AT eflornend el gmngy 0.5 9,6
Ho cney- 02
Note: When the answer for this part question is given ik & single line as

60 18 33 80
only the first value i.e. B0 is cansidered as correct,

Therefore, 0.5 marks are given.

$i wanlul B8nd ol gdfaml

Jomadel eflud o e BEY Lel cow S B0 2baum RO0E won

e (o,
ST, Fmag 0.5 of @dn ef,
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2. {1) owm

Sqeo® sea Breos ® 59 O enits BEO w3800 Samne (malicious software/malware} B8

Bcdmd £ oo, 08 ori B6e08 eaBmd Sy o Bdnos gnBEeleSy eoxdd § o

l —_

Beeecid DG Sagmien

gimot Bing woring Bow gmd oifiem gDt ofoRal | guabe BTc (Spain}
g 28 o awdn® BEE gw! 9159 g 2pol.

Boped moys B85 S B ewd pocdadidn Sadic | SPgmhisd (Spywarel
wemdepo] G axd =580 d0S g mslen cora® 2o, (Trojan horse)

o & ©

abeg uif@nd gpog o smigwien gecgeosi qean owod | sbosm 58
omdns {(Lnanthorized) e erond. Sopdd merd 88w {Computer Worm)
corzcm 58 Deddl mdgeicl reeci® sdoSia,

®

Beas mmE afeg. Srer 208 558 2o welbs D0 Bz | Al {(Phishing)
o Gonetim Dol o opfBe® mBad e i

el

SprEf 8 mB Belodo e Baeod & mfl mfimd Dagmenad weoaim, Sdnded goe

amede my BUdE eoBomd Sagmaan Gl BEnh sment Soi oo,

(ct

td)

germelhfio eogds (@ -waste) axpyeum® oo Bmd S0s® 2@ sCmel S,

wmaddy mn eriSiedem nudseel oug nloois B coemees (Comprcr Yision Syndrome
OV S, mona ecins cedzae (Carpel Tunne! Syndrome {CES) oo pudddS g
B (Repetitive Stress Injury {RS1)) 38 aBmms Gro® ab 2 5 Y oo eblgmen
Fme@mis e I Hledbn HiqdE gBaDOBH GemE meth 20 oo,

mpen oymiolm DBl ooy

St gy wEao@m smadmdy mitess ohePmmoy (FT Manager) af amxaf g mEdbed
pitmam, EanSs seemd oew cof odp odn bt wEumem Fuowmsd wn@sdoan
e of @y 0f ofwedl egemmd st Dee miies ened Deamosied Boad muod Etiem
sf@pnaf Seiired angmeSyl smdh Tty meBaman edford 18 S08D gwisd oRs
55w ey o el emadndt e mESnmoies sEE Do il ey pdae!
e B emlowst omiEQ o,

Sy molicseem e30En (e, Detms By geEDels Do Lo ond AR Rt eee
qatksm ceDSOE £ e Lgad o egmiE gRE Bo c@ecn 8 cri oB8EE Lamdi:
o Bl rm B O 88 audmiaem® B0 emleen oGl el

Question 2

{H

(i} {8}

A~ Spyware {Trojan horse)
B — Phishing

C=Spam

D — Computer warm

0.5 marks each for a correct answer
Total — 2 marks

A - e drdzd (Spyware (Trofan horse)
B — =iz (Phishing)

C — aandie @ {Spam)

D - uSpness 0AE [Computer worm|

reuse/ recycle

1 mark for each correct answer
Total — 2 marks

recuce Use/ maximize usage are not appropriate for 'disposal’

Len



o S0l mepali® peimt
{omty} 0.5 marks for answer b

Fotel (recycle}

134

gww:ft’m;:i; o2 ireuself LSt
ot B, B g rpiad B camen 1

reduce uself ceBEL g S0P (maximize usagel e S g A

t.

i 538
BEwI 9CW tang T @EDEE
s BEmI aEn - -\3"53&30.5 {af mma )

T O

"

g at correct distance fram the screenj'\.-ertical position of legsf
alght head)

by ANY tree of (eorrect eye levelfey
wrist siraight with Keyboard/ siraight shoulders, straight back, str
- 1 mark for each correcl answer
- Total - 3 marks

E ?

of goad AT et L] LrrEgnie O
S e TOE

1I'_ . Lt
L oo ww &
o e ¥

gt
i o E @ cundet Spoicdin, €
st S SEmol s Pt o
e

ot BEmUE EE 1

{1

e cmE s 3

¢y One of (providing cc:-nﬂdential datatoc @ {hird party ﬁghggt_geimissioﬁ Lgonsem‘] | viplatin
1 matk
BT

Ei’i\.’ac!]
PR s S Lﬂﬁé‘-"!'_ﬁur‘uﬁm_:ﬁé;@ oo e B
n gt GHERTT, HE I BLE R

at a different geagraphir_a1 lgcatlon
packup and 1 mark for kesp it gt different location
ynarks far storing n different locationt

[y Take packup of the data and keep packup
1 mark far 1aking

(Backup <houkd be here 10 BIvE

Total -2 marks

QR
packing ug: Copandto an oﬂl'lne,!dcgq stoTage

2 marks

de the underlined key words.

Ngte: ansael snould inciu

' ‘--’1w-m61qaﬂﬂ!m

-

mmmmdmwr::
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Question 3

(i}

fii}

{a) —web

{b] — corte— —arase~a— irraare.

{c) —web czmne

{d} — mairt=—are
0.5 marks each for a correct answer
Total - 2 marks

(bl -oxf o serm =z 2oz - contentma nagement software)
(O)-2i8 enfr= oo losz wen conteni)

(i —=mizs SIs8 =I:z2f —3 mienance)

1—title

2and3- a5 =l - Et ofmeen 2 marks, without h2 -1 mark] *

4 forr

5= sre.

6-p

7 - just

8- href
1 mark each a correct answer
Total - 8 marks

CINET ST T T e UaE L De D27« oroany tag from the given list.

*

1~ tie

2and 2 - o vl oo e AE G- 202 sy e - 1 F

4 —fort

S—sm

6-p

FET

8 — hrf
Hegof o O8ndas cuney 1 oyBaf
Y& (rpen - B

*hirm s zor= mvr iz Fou oprs S ime sl B g S e o meEhiseeal o oum.
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cmtobian geteTss BEmUr el sow o onoled S8 roeci® ud wrim.
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fivh obw 2015 gm0t @S oot Bend Sdama (Yarbuion) seolBe oo sqndyesd sy senio
2 | gefmd Hffn s m® oot
1¥) goo (iv] § 8EndT gog ndmd m#Se 832 edlec oge: 2o oo in ewmle sdes p@el 57

Question 4

(i)

{if)
{iii}
(iv}

=average{Ba;B15} 3 marks all correct {1 mark each part)
oR
Functionl — average, celll — B4, cell2 = B15 Each correct answer - 1 mark
Total -3 marks
average, B4, B15 Each carrect answer in order - 1 mark
{note: B4 and B15 can be interchanged)
=815-814 OR SUM{E15 -B14) 1 mark if rhis gquestion has been attermpted
=B4-B3 OR SUM{B4,-B3) 1 mark if this question has been attempted
Any two {Bar chart/line chart/colummn chart} Each correct answer — 1.5 marks
A4:A15 OR

B4:E15 2marks or0
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ol D85 mus Bazis 28 glic o Gl SGm i mie
< 2w 9l Sigm sesiha® crim cefigaans {Database) 28ty =mal, 0p e
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Instirument Tabie T et LD Student Table (fe- too) Borrawing ‘able

P10 ] instrement | Received date [SID [Name [ Grade | oo & b _
[ ]q{;_ TAEL e Boay 5006 {Nuwan | & !_ Date LID‘! 51
L woi Trumoc 1012015 5005 | Kormars [T TJI00I2016 | 103 1 5004
[12 T Canoe 01 i 015 ' 0105016 | 1002 | o5
LID03 Trumper GLO62615 | |oroanots | w003 | suot

Prinary koy) o o5 Laic o8 ¢ edn (3 Ocfnom sl

2 bz Svm PRI El aSm et S0 @5 (DFUms) pomes

2y ewidafis og g Swset c?
SRie Tl mom (¢ el (Rows) Bey ¢ afhenfpn,

(i) e 2@ iy Liim maitesd BRI o ZTmE Wy SBoIo {Trumped)

OR cadimalm e g Srte o
EA%:.. G watnimal;m odm @g ek Bas e,

Question 5

3] [1ID Instrument (Tahle)
510 Student [Table}
1.3 marks each for field and takfe
Field name / Table Case sensitive
Total — 3 marks

LID mdc waa@e Soid Instrument {Table)

51D Jww Lpid Student (Table)
" ' audys ae Lo wem e 1.5
El
gocned
{owfyy 2 L 2nd T S andnls
TS s

{ii} {a) Instrument (Table) 1 marks
iz wesi oL [adeal
o
1004 Dram | 02/12/2016
- 10os Drum 02/12/2016

Any i_ID without existing ones acceptable
Date format should be correct dd/mm/yywy in the record
Date forrmat 12/02/2016 i.e. mm/ddfeyyy is also accepted
‘Drums’ also accepted as instrument
1 mark for each cerrect record
" Total 2 marks

s H D edoount w0 sty B @ ot tad preat,

Inmmmus s D =23 dd/mmfyyyy eee S5a TG, gt




 Arom wooolo g @zl

Fxw

Ew
i e e ‘Drums’

{iii] (a} Student {Table), Borrowing {Table)
Bee B, cofziz § Bob

o5 Tsemen _ L.

| 50
any 510 without existing ones accepta
included

e

0871272015 | 1001

orR
| 'oe/12/2016 _; 100

5_ID above update should be based on answi

(s S

H5 D ens

Limnis San g SRR

(1 B 13 qzmin) r 5

s

G Tiom _ 5006

e 1o [0

:z:w:i"__ o
K

Suin Ll oeEmy FOGm G4 S 1D e

R TR B3 e,

-

Hemr Dgil B @8
aymratiEaoTE ARG BAS

o gmmmie 12f02/2016 S0, mm ddyyyy ¢ med 9% e
& mad $E [T EE.

& Tiom T

on e 5 10 e &, CRDE

Copenn Ge S

AEN
ety

St wdem Dl e 1 and=d
se oG 2

1 mark each
Total - 2 marks

1 mark

ble, Grade can have any aumber (Lo 13} f hlank / not

1 mark
arto the update Lo student table.
{i.e 5ame 5_|D grven tar answer in Ll [b) first update}

3]

cmea |
e w3z Tond maaand g0 @yssl. Grade g 2 E
ST om® Dol Grade grpiest @ B

FEmaE

-
cme 1
&, (@A ppebd wbsiEEe £ A8z me. S oF

e 1

) Dot mbsEnds B A8s pms. B 5B

B
. v
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SIED DERDIEGIrter $48m 105 pilaltra) wBEmmes {Vedio conforencing ) masdwesc Coeedd mo
DEPort s B e oom L.

(4} BBowi mSEdrem ooy s cooel od o Rebel mEmnes creds & Sriod S Casitiaton,

() BBt oPérins —rmvme cu@siB w0 mRE S 699 w=gimes EoenlSD Be So wS o
Ot Soa i,

L) goo 0¥ gnl o8 edtnost ven wrlfielim minmn ogm Sin BE wo emd EE {Memas)
wille =IE rimEnt mEo ooiBedem miur pgEs Shinf@imed wafm mam @ o G

=B nuimtmess mfs; G582 efios Simn mdmn el & sem w5825 2839 modomo
Fhade oorin.

(d} BBeci oPirigm o oD (&) 8 Gded BYedosd sEmoh. ess LEnEU BE seliment aSn
i srds g v maasd aSelcn mign me 08 simet 2E 8o oront mdedm.

Juestion 6

i} fa; One of {Observation, document review, interviewing, questicnnaire, survey, prototyping)
1 marks

(2] (1) One of {final product is available only atend of the process, not possible to change
requirements, all requirements should be identified at start, unable to Eo biack to previpus

phase} 1 mark
{2] Ore of (iterative, spiral, prototyping) 1 mark :

CR

[although not relevant to an alternative to ‘waterfall method, due 1o the appearance of the
term ‘deployment’;

One of {Parallel geployment, Pilnt deployment) 1 mark
fc) (1) One of (Parallel/Pilot) 1 mark
{2) One of [Safer/ less risky approach) 1 mark

{a} Cne of {Save timey Save travelling cost ) 1 mark




I

& memm By piaaliv efvhigs

(i}
() One of Lack of face to face interaction /need for an internet connection, high initial and/or
1mark

maintenance cost/nead for technical support}

1mark

{c) email,
Instant Messaging / MMS (NOT the maost appropriate solution) 0.5 marks

Mo marks for lechnologies such as SMS that cannot be used far sharing documents

{d} Two of {Social media/SMS/Wikis/forums/online chatting/tele-conferencing, Instant Messaging)
' 1 mark each

If answer given for part {d} is not included for part {c} marks can be given

All correct answers given for part (¢} are correct answers for part {d}

fany answer not given for pan {ii} {c}) above can be used for part {d) as an answer}
Total — 2 marks

06 & ydme

{i)
(3] HAodwes, SHempledamn/todm alsemnae, sBES ombd, 2084 elxfem, gadmais,
ulz=fe e, Geocka
ot 823 ® o BEnow wewr - cmen 1

(b] (1) &P Dr wfRde nRuls wolm edbuEficnd am oo wR Dafes! =iBuwbFae
ghwmad? us &/
sBdcw gb&sw wemad sgrn shed AB80 mB b enm!

Bedd uBlce pbdum §GE vgrody Crad!

o0 4LEUED ome slodm® e sonm®
@t B, & S=f B8npdx sews - cmey 1

(2) gmbmden Sagd) gomadc

Eaalio qaxado
wlifle mma e Fo? S, & oaf Oy aesn - cpa 1

TR
ERLE® wen tew 3B gR Hee o o6 pamadfind el emafiig
= 5 1 & Js ==

pEind snf Hud SenlDn H58 oot Do dwdd 28xd son  gdC0
anel

{c) {1} e@wfmd ewd Aol duiEgn H50
ol 2of BEmdiul o - cgem 1

[2) gadagimnmnCulebom® gl
Bt ook BEdnd pewa - g 1



3 emg Baar ¢ tadin el wtr g,

(il {a) g2oe wabaameD rear BEED g A wre f God @A5 ob.

(b} Bt Ex e mf e®antogo g Sa
getelss nlamtnn.g #laeB e

(¢} Bdpaf mme

E—

e sy

Bt ol B@pcnd e - cHE 1

Bt o Bfnpowmf MEw - men 1

Cae |

e n&ig o fs 59 Eale & (MMS) Cume

SMS 2.5 57

@D zmongd mumts o DT ST (35 DY wma sal.

{d] e@ots sags SMS/ Wikis/
SEwes Tedip {forumsy
Biorn wmiEe (oniine chatting}/
LI elBtnem (tele-conferencing)/
sHedim = &00 o8

s (i) (¢} emmdnt 88ng s & emaed d0,® B8;08 gt (d) emybu e wad

LTEcY

ot B @ Bmg; 2 o seww g B8mmd - carey 1 Gdm
82 cmez 2
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Question 7

fi]
. ( START )

INPUT A, &

No/N/fffalse !

Yes/Yitfirue

OUTPUT A

!

"J

Start/Begin , Stop/End 0.5 marks each
1 mark for each all other correct symbol and labels
Mo partial marks if label or symbel incorrect

tondition check ves na labal correct place 0.5 marks each

for completeness

total - 1 mark
total — 4 marks

total= 1 mark
- lmark

This mark {fer completeness) is given only if all symbols #nd labels are correct
and correct arrow direction and placement. Unnecessary symbols shoyld not

be ingluded,

fii}
A-Counme=100,
B—ingLt x,
C-Mas=x
D-0 o0 Vay
3 marks

Overall Total - 7 marks

if this question is attempied
with or without correct answer
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{ii}
A - Count<=100,
B — Input X,
C-Max =X,
[ - Quiput Max




